Tablica. Rozklad normalny
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[0 0,00 | 0,01 0,02 | 0,03 | 0,04 0,05 | 0,06 | 0,07 0,08 0,09 b4
0,0 o0 2,5675829 2,326348 2,170090 2,053749 1,959964 1,880794 1,811911 1,750686  1,695398 0,0
0,1 1,644854 1,598193 1,554774 1,514102 1,475791 1,439521 1,405072 1,372204 1,340755  1,310579 0,1
0,2 1,281552  1,253565 1,226528 1,200359 1,174987 1,150349 1,126391 1,103063 1,080319  1,058122 0,2
0,3 1,036433 1,015222 0,994458 0,974114 0,954165 0,934589 0,915365 0,896473 0,877896  0,859617 0,3
0,4 0,841621 0,823894 0,806421 0,789192 0,772193 0,755415 0,738847 0,722479 0,706303  0,690309 0,4
0,5 0,674490 0,658838 0,643345 0,628006 0,612813 0,597760 0,582841 0,568051 0,553385 0,538836 0,5
0,6 0,524401 0,510073 0,495850 0,481727 0,467699 0,453762 0,439913 0,426148 0,412463  0,398855 0,6
0,7 0,385320 0,371856 0,358459 0,345125 0,331853 0,318639 0,305481 0,292375 0,279319  0,266311 0,7
0,8 0,253347 0,240426 0,227545 0,214702 0,201893 0,189118 0,176374 0,163658 0,150969  0,138304 0,8
0,9 0,125661 0,113039 0,100434 0,087845 0,075270 0,062707 0,050154 0,037608 0,025069  0,012533 0,9
x 0,001 00001 000001  0,000001  0,0000001  0,00000001  0,000000001 x
u, 329053 3,89059 4,41717  4,89164 532672 5,73073 6,10941 u,
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